ENGR 350 - Mechanics of Materials, Fall 2013
Homework #6

Due: Monday, Oct. 13

Problem P6.3, p. 164
Problem P6.5, p. 164
Problem P6.8, p. 165
Problem P6.10, p. 165
Problem P6.13, p. 165
Problem P6.14, p. 166
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(all problems are from the textbook).



3-0235 — 50 SHEETS — 5 SQUARES
2.02356 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUAHES

3-0187 — 200 SHEETS — FILLER

COMET
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30285 — 50 SHEETS — 5 SQUARES
3.0236 — 100 SHEETS — 5 SQUARES
3-0297 «- 200 SHEETS — 5 SQUARES

3-0137 — 200 SHEETS — FILLER

COMET

?mblﬁ,m |
| Gaw\@n dé, Q"ﬁ"‘j”m%- 352?‘63”m Aoz= b lozsin

+,= 280 vn Te= @ sy Ta= 249 lpty
\C\\r\d Zma\x M Q&Lc\/\ %M’f f 8 -
Soloyory, - e 2
Te‘e—eéfj‘”' g Pl
= e l' c
® sx=6 () €k =
=N\ +b0 - 24 > =Ty - Z4
Ti= Bl \bifa’%% T‘L‘-.‘- 24 kjptt
3':%@"" G‘ﬂ 3‘-' ((g Lz5Y - b.0Cs \)

* W 105 - to.02 *E) 3 6(9 7284 it
‘%Z

T 52, %r}:’aﬁ" i <
T)=1e
=Dl kps \0'76/?-'\“\( \EMF‘)\J
- YA ’-{c,sasiw-i
[Eeres]
‘Ta-= (’w tcw%){mn(ﬁ\) ( (@ v/ Lwﬂ
T 2, 2844w

e lCas =]




8-0235 — 50 SHEETS — & SQUARES

3-0236 — 100 SHEETS — 5 SQUARES

3-0287 — 200 SHEETS — 5 SQUARES
. 8-0187 — 200 SHEETS — FILLER

COMET
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